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Question 1 (10 marks) Marks
(a) Solve forx: 27 =9 2
)  Solve for n: [3+2n|=n+1 3
(©) Solve for x: 2 <5 3
' x-3
_[3-2x ¥ x>1

@ If g(x)—{ 9% i x<1’

find g(2) + g(-3). 2
START A NEW PAGE
Quiestion 2 (12 marks) Marks

@

Find the domain & range and sketch each the following showing all the features:
. _ 3

O fo=_—p

(ii) y=+/25-x*

Gi) A =[2x+]

(iv) y=—4x"+12x+7

3




START A NEW PAGE
‘Question 3 (10 marks) Marks

(a) Sketch on separate axes and s'how'ing all their features:

x—1
i = 4
O y=m—

(b)  Sketch the region defined by y>x+1, y<x®+x 3
(c) Show that whether f(x)=x*—x is an even, odd or even function. 3

START A NEW PAGE
Question 4 (13 marks) Marks
(a)  Find the exact value of Cos 457 +c0s60° 2

sin45°

2

(b)  Find the value of sind = cos(2b — 30)°

(c) The angle of elevation of the top 4 of a mountain 4B from D is 13°. On
advancing a distance of 1000m towards the mountain to C (over level ground),
the angle elevation is 19°. If AC = x metres and AB = h metres.

@) Draw a diagram to show the above information. 1
1 -4
1000sin13 2

(ii) Show that x = -
sin6°

(iiiy  Hence, find the height % of the mountain to 3 significant

figures.

(d) A hiker walks 10 km due west from P to Q and then proceeds 5 km in a
direction 220°T to R. The distance between P and R is 13.8 km.

] Draw a diagram to represent the above information.

(i)  Find the bearing of the hiker from P to R.
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